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QUESTION 1

You are provisioning a LUN for a server running Windows Server 2016.
In this scenario, which ONTAP LUN OS type should you use?

A. hyper_v

B. windows

C. windows_2008

D. windows_gpt

Correct Answer: B

Reference: https://thinksystem.lenovofiles.com/help/topic/san_administration_guide/M_DDA6B457-854443AC-92E8-D8
46A0BA7671_.pdf (22)

QUESTION 2

You need to restore a large number of files from a Snapshot copy and grant users read/write access to the restored
data using CIFS. For comparison reasons, you must ensure that the currently active data in the volume is preserved.

Which restore method should you use to accomplish this task?

A. Use FlexClone to clone the volume, and specify the Snapshot copy from which to clone.

B. Use SnapRestore to restore the volume, and specify the Snapshot copy from which to restore.
C. Use NDMP to restore the data from the Snapshot copy back to the volume.

D. Grant users read/write access to the Snapshot copy in the snapshot folder of the CIFS share.

Correct Answer: B

QUESTION 3

What is the proper command to start a packet trace in ONTAP 9.3?
A. system node run -node * pktt

B. network ping

C. network traceroute

D. network tcpdump start

Correct Answer: D

Reference: https://kb.netapp.com/app/answers/answer_view/a_id/1029833/~/how-to-capture-
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packettraces-%28tcpdump%29-on-ontap-9.2%2B-systems-

QUESTION 4

Which two statements are true about epsilon in a 4-node cluster? (Choose two.)
A. Epsilon is used as a tie-breaker for determining a quorum.

B. Epsilon is automatically assigned to the first node when a cluster is created.
C. Epsilon is used for determining the up node in failover.

D. Epsilon is automatically assigned to the last node added to a cluster.

Correct Answer: AB

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
sag%2FGUIDEFE1DEF4-8B87-4C4A-8E4E-C6C79F760710.html

QUESTION 5

Two end-users are both connecting to the same SMB share, but end-user A sees different files and folders than end-
user B.

Which statement is correct in this scenario?
A. Access Based Enumeration (ABE) explains this behavior.
B. NetApp Storage Encryption (NSE) explains this behavior.
C. End-user A is authenticating with NTLM.
D. NetApp Volume Encryption (NVE) explains this behavior.

Correct Answer: C
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